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L. HHH

(1) E7/=E FE R TR~ N 5, AR (= SR

(2) BF=H BT AT E, TR B g8

[ ) 42BN AEF= 0[RS0 2 5l BB B AT BBt B0 [RISTH 2 R A B AR 14, i HR AL R B i
THENBL. CRIZAZFEZEMN, BRI

| GE=9 WVEAE K iR
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N kS PRI BLT AR = A X (AR D/ (- R BBLR)
PIAZEAEBI= A X (THEAFHE )/ (- RBFER) X EEBBR
PIAZ I B B= A X (I+HEAFIEZ) /[ Q- BRBIBLE) X H BB

HEHH AR BL A= DA X (LRI D +EAH 28]/ (1T R BIRL )
P AZ SEAE A=A R T BN M X BB 2
IEAZ T B =L B % X B A+ A0 S

[0 ) ANEEIRRL RIE R — BN, S~ IR RN T, /NeEIRRH B ERZE = S
BEMAG . CANZHALIRRHR A 10000 J6, AFE R 20%, HEBBRN 4%, HEBBIRN 13%.
HER BN FE=10000 X (1+20%) =+ (1-4%) =12500 (JT).

AN 2 Bi=12500 X 4%=500 (IC).

BEFLRIA=12500 X 13%=1625 (JT).

[0 Y K5 AIGER — AV, & B F=H 10 B EERIELR % 7, CANZKE ] A R 9
IS A%, A R AR 10 376, BOARFEZE Y 10%, 240 i IE H 9 2Bl B2 20%00 0. 5 76/500
L

B gt K EFERIBUE TG, RS RRE N RGN TR B TR R S A A, R ARG
BAS 5.

MBI H= [100000X (1+10%) +10X2000X0.5] = (1-20%) =150000 (IG).

N.YNTH 27 Fi=150000 X 20%+2000 X 0. 5X 10=40000 (JC).

A BRI 4=150000 X 13%=19500 (IC).

[7%58 « Fuk@E] 2022 4 1 H B 5 A mPRESHT R I — st SR Aot i TERARAR R, it s Aot i A
FA 97750 76 TRIEmm B A, SR BBy 16%, MARIIEZRS 5%, tHE LA A
ZEBM ST B B A B R A, BRI ¢ ). (2022 )

A. (97750+97750 X 5%) =+ (1+15%) =89250 (i)

B. 97750+97750 X 5%=102637.5 (JG)

C. 97750+ (1+15%) =85000 (Jy©)

D. (97750+97750X5%) + (1-15%) =120750 (JG)
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M (1D K B R AR A, T BRI B, B TR I A A
(2) W RS R S B A%, DL R B A% T3
(3) HBIBURE=RA X (THEAFEZR) + (- BB ).

[5/8 - g @] 2019 45 8 H HIET A HF=Z 2R A0 1 M2 %, 248 (A4 R 42500 o, RS
FIEH AN . RV R BLELIRL Ry 20%, SEBBLZEN 0.5 76/500 b, ASFIEZN 5%, 1 HEi=1000 T3 .
THECRIE) 9 XL 55 il P BBl At o, Em ¢ Do (2021 4F)

A. 42500 X (1+5%) + (1-20%) X20%=11156.25 (JC)

B. [42500X (1+5%) +1X1000X2X0.5]+ (1-20%) X 20%+1X 1000 X 2X 0. 5=12406. 25 (7T)

C. 42500 (1+5%) X 20%+1X1000X2X 0. 529925 (J0)

D. [42500X (1+5%) +1X1000X2X0.5]+ (1-20%) X20%=11406.25 (T)

BHE: B

fENT: B E P E R NIRRT, JE TR A SR B, RIS PR, BT R RIS e
WA, PEARRFBN RS, SRR A THIE 7 40 94 B

W B A=A X (LA FNEZR) +H ™ 3 EE X R RE SRR ]+ (I-E BB EBiZ), Mgy
TRRL=2H BT RN AR X SR LB e+ 1 7= [ B0 X7 2B e AR R

2. ZFem T
FE R ZFET7 IO RS0 o i A B AT AR SRR v 30 B, A R S s N AR 1, F& IR AL BB AN
P SARUSCAR BRI 7 TR

SR T 5

M iE 2 AR BLbrtg= MRS / (- BBR)
JSZHH B A= BT BN M X BB LE BB

HEHH AR BL g = MPRUSAR I TR E A0 2B / (- BB )
JS2ZH I B A =2 BT B M X< B LA B 2R+ e A B A

[261) ZHIT A AT R B I T, Can, A AFHRBEMAERA N 50 ot CRERD, It
2 B AN 888 20 5ot (ANEBD, MHLRERBIBIES 30%, B VA RS2 M S M5 .
ZR: AAFIRHEBBIB SN, HZEH B ARSI T8
HR BN H= (504200 + (1-30%) =100 (J375)

NARIAR G578 9 Fi=100 X 30%=30 (J370)

[Z530 « k] 2022 4F 12 H HHbR) 2368 S A RN T—HESER MR, A FR MR A 45 000
TG, FHHBAR) SO S B AN T 3% 12 000 6. IR [FISE SEAR AR FH 2 w48 B4 #6100 000 76, 44
) [ S SEARHIAR A & A%y 120 000 76, CENVH BRBIBLZ B%. TR F AR _E b 5 AR S5 2 Bt Bt
PRAE S, B ¢ D). (2023 5
A. 120000x5%=6000 (J5)

B. (45000+12000) / (1-5%) x5%=3000 (JC)

C. (45000+12000) x5%-2850 (JC)

D. 100000x5%=5000 (J5)

BHE: D

fife T ZRAEIN TR SBLYE o b, IR SZHE DT B[R] 280 2% i B A TH RGN, 1 [RISRIH 2 s B R 1
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TR ZH R FLN A T B . FRAR ) ASZFE T, RIS H A B A E AN HS S 100 000 JT, #H HAR
b 55 REARUSAR B B BRI 100000x5%=5000 (JT ).

(558 «53% 812019 45 10 H B 32468 A6 M) T 22, SOpohn T2 2%+ BB R % Ak 5533 B 4240 21000
TG~ B 2730 Jo. LB SRAEM B A 140000 765 H ERISEIH 2 B M . SRR 22 BRIy 30%.
THER T2 55 ARG PR B A R o, IEipe ¢ ). (2020 4F)

A. (140000+21000) <+ (1-30%) X 30%

B. (140000+21000+2730) X 30%

C. (140000+21000) X 30%

D. (140000+21000+2730) + (1-30%) X 30%

BHE: A

fENT: BRI TR RIBE 2 5, 3Z R SZHE 7 RIS o S B S A TS B, I RISV 2 A B AR 1,
FEIR A BT BN AT SR . AT A B R IME T AN B T BN b= BRI T 9% + (1 %%
FLECBIRLZ), Hordr, T2k, 482070 T RIBLH 2 1 ZEF6 7 Frfica i A3 2 L CRL a4 Bh AR 1)
ERRRAD, AEFERERR . T RS 8= (1400004210000 =+ (1-30%) X 30%=69000 (JG).

3. BEOIAY

SR T 5

N kS AR B Ag= CRBUERMIE+RBL) / (AT RBIRL D
IS B A=A TH BN R X BB LA
R A=A R T B # X I E R R

RETH AR BANAE= CRBLEBUM M+ RBHE AUH 928D + (- BB BRI
JSLZH T B A =2 BT B M X B LA B R+ A 2 A

[ 8 « ik 12019 4 9 H HBRE T i D ek A — ik, 0% € B SBLSERNA% N 85.5 JI 76, BHaAKHt 2. 565
Jivts #EOA A, WM E IR SE RN RSN 179. 55 Jit, S94NCB 7. 182 Jit. CURIE RBIBIE N
10%. THEHERE ) 2 LRV 55 Rigaghil BB ) oA, EfRE ¢ ). (2021 )

A. (85.5+2.565+179. 55+7. 182) =+ (1-10%) X 10%=30.533 (J370)

B. (179.55+7.182) X10%=18.6732 (J375)

C. (85.5+179.55) + (1-10%) X10%=29.45 CHJG)

D. (179.55+7.182) —+ (1-10%) X 10%=20.748 (JiJG)

%%: D

filetr: (1) “SHRAET7 (NESEIRTHGNE B, B OGN BB A A e OISR AL

(2) MY Z e SRR, 2k IR SIGN P Bi= CORBLERIMN A+ GBD) + (1T BB LB E) XU 3%
B EL IR

(578 - @] 2019 4 12 A W A RO — LW, R E BLE BT 540000 Jo. CURITH SRR N
10%, RBUBLR N 6%, THE 2 5] 24 H %ML 55 MG TH BB T 205, IER R ¢ ). (2020 4F)
A. 540000X (1-5%) + (1-10%) X 10%
B.540000X (1-5%) X (1+10%) X 10%
C. 540000X (1+5%) X (1+10%) X 10%
D. 540000X (1+5%) = (1-10%) X 10%
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BE: D
AT : WA B FRTHIETH SRR, 3 VIR NN e Bi=e B e BN X (L BRER) + (1-JH BB EL IR
XY BRI 2, HE IR RGN 2 Bi=540000 X (1+5%) / (1-10%) X 10%=63000 (JT).



